HEER
Elbow

FZ= #4558 (2B) Tube Fitting (Black)

=ese.... ..

LY BHIME 5B  REIE
PL4-M3 3 136 ] 17 137 |155 | 8 | M3Xo5 | 3 | 1.1
PL4-M5 4 133 17 137 [ 155 | 8 | M5x08 | 32 | 2
PL4-M6 4 | 4 [162]205 | 8 [137 [155 | 10 | M6x10 | 46 | 25
PL4-01 96 | 20 | 24 137 (155 | 10 | PTUB | 64 | 4
PL4-02 7 |72 2 137 [ 155 | 14 | PTU4 | 152 | 4
PL6-M5 4 141 19 138 [162 | 8 | Msx08 | 4 | 2
PLE-M6 4 | 157 | 206 138 [ 165 | 10 | M6x10 | 54 | 25
PL6-01 6 | 7 [183] 23 | 10 [139 [165 | 10 | PTUB | 74 | 4
PL6-02 94 | 211 | 26 14 | 157 | 14 | PTu4 | 162 | 4
PLE-03 98 | 212 | 26 14 161 | 17 | Pras | 196 | 4
PLE-01 7 | 215 28 202 [ 226 | 10 | PTUs | 98 | 54
: PLE-02 95 | 22 | 285 20 [225 | 14 | PT4_| 16 | 54
- - Py 8 13.6
N O]:& TN PL8-03 93 | 223 | 29 201 | 225 | 17 | PT3B | 206 | 54
SISIRi ; PL8-04 1.8 | 252 | 315 201 [ 223 | 21 | PT12 | 338 | 54
ui A PL10-01 69 | 23 | 31 243 [277 | 10 | PTis | 17 | 5
i PL10-02 o Loe [2s2] a3 | _[241 276 | 14 | P14 | 184 [ 5
oH PL10-03 94 | 249 | 33 242 | 216 | 17 | PT3B | 236 | 5
- PL10-04 12 [ 27 | 35 243 [ 275 | 21 | P12 | 348 | 5
< PL12-02 12| 232 325 247 [ 282 | 14 | PTU4 | 214 | 5
ﬁ R PL12:03 12 |96 | 266 | 35 |19.6 249 | 289 | 17 | PT38 | 266 | 8
Metric thread type PL12-04 96 | 26 | 35 25 [ 288 | 21 | PT12 | 378 8
DHIZFEN
=
ow
= IR B (Unit): mim
Y BEIME 28 REIR
PL3-M3-NI 3 | 152 | 195 127 [ 15 | 8 | M305 | 38 | 11
PL3-M5-NI 3 |32 [133 172 | 7 [ 8 |145| 8 | Mex08 | 38 | 2
PL3-M6-NI 4 [ 162 | 205 127 | 15 | 10 | Mex10 | 56 | 2
PL4-M3NI 35 | 136 | 17 136 | 15 | 8 | M3X05 | 39 | 14
PL4-M5-NI 4 133 17 136 | 15 | 8 | M5X08 | 41 | 2
PL4-M6-NI 4 [ 4 [162|205| 8 [136 ] 15 | 10 | Mex10 | 5 | 25
PL4-01-NI 96 | 20 | 24 136 | 15 | 10 | pTiB | 73 | 4
PL4-02-NI 7 [ 172 | 21 136 | 15 | 14 | PT14 | 161 | 4
PL6-M5-NI 4 [ 141 19 137 [ 157 | 8 | M5X08 | 48 | 2
PL6-M6-NI 68 | 1567 | 206 137 [ 156 | 10 | Mex10 | 62 | 25
PLE-01-NI 6 | 7 [183] 23 | 10 [137 [156 | 10 | PTiB | 82 | 4
PL6-02-NI 94 | 211 | 26 139 [ 152 | 14 | PTi4 | 17 | 4
PL6-03-NI 98 | 212 | 26 139 | 156 | 17 | P13 | 204 | 4
T__T PLE-01-NI 7 | 215 28 201 [224 | 10 | PTs | 121 | 54
a 8]:&_ : N PLE-02-NI o | 95 [ 22 [285] . [199 22 [ 14 | P1ia | 183 | 54
1 PLE-03-NI 93 | 223 | 29 20 | 22 | 17 | PraB | 229 | 54
, PLE-04-NI 118 | 252 | 315 20 [218 | 21 | P12 | 361 | 54
ol = PL10-01-NI 69 | 23 | a1 242 272 | 10 | PT1/s | 208 | 5
OH PLO2NI | [ 96 [252 | 33 | [ 24 [2r1 [ 14 [ PT1M [ 222 [ 5
< PL10-03-NI 94 | 249 | 33 241|271 | 17 | P13B | 274 | 5
<]E PL10-04-NI 12 | 27 | 35 242 | 27 | 21 | PTi2 | 386 | 5
, R R PL12-02-NI 12 | 232 | 325 246 [277 | 14 | PT4 | 288 | 5
Ry pe PL1203-NI_ | 12 | 96 | 266 | 35 |19.6 | 248 |284 | 17 | PT3B | 34 | 8
PL12-04-NI 96 | 26 | 35 249 283 | 21 | P12 | 452 | 8
PLicosN | | 96 |a08 | 435 | 228316 | 21 | prom | 414 | 117
PL16-04-NI 12| 305 | 432 228 | 316 | 21 | PT12 | 466 | 117

NI: £EIREHER

NI:Release Ring (Metallic Body)




Elbow

\SRBE BB {3 (Unit): m/m

B 5 i & aEAE
PL4-M3 3 | 136 | 17 137 | 155 | 8 | M3X05| 3
PL4-M5 4 | 133 | 17 137 | 155 | 8 | M5X0.8 | 32
PL4-M6 . 4 | 162|205 | . | 137|155 | 10 | M6X1.0| 46
PL4-01G 75 | 175 | 21.8 132 | 155 | 10 G1/8 6.4
PL4-02G 85 | 19 | 233 132 | 155 | 14 G1/4 14
PL4-03G 85 | 195 | 23.3 132 | 155 | 17 G3/8 20
PL6-M5 4 | 141 | 19 138 | 162 | 8 | M5X0.8 | 4
PL6-M6 4 | 157 | 206 138 | 165 | 10 | M6X1.0 | 54
PL6-01G 6 75 | 188 | 244 | 10 [ 139 | 165 | 10 G1/8 74
£ PL6-02G 85 | 201 | 25 139 | 172 | 14 G1/4 6.2
‘C—’l PL6-03G 85 | 202 | 25 139 | 172 | 17 G3/8 18.4
+— PL8-01G 75 | 221 | 29 156 | 23.3 | 10 G1/8 9.8
o D[g roo \ PL8-02G . 85206 | 29 | 156|233 | 14 G1/4 14.8
SIS i PL8-03G 85 | 21.3 | 29 156 | 23.3 | 17 G3/8 19.4
oo PL8-04G 10 | 233 | 30 156 | 23.3 | 21 G12 | 304
. PL10-02G 10 | 25.1 | 34.1 213 | 279 | 14 G1/4 176
OH ® PL10-03G 10 | 85 | 237|327 | 16.7 | 213 | 279 | 17 G3/8 24
< PL10-04G 10 | 25.1 | 34.1 213 | 279 | 21 G12 | 31.8
< PL12-02G 10 | 207 | 37.1 235 | 207 | 14 G4 | 206
]ﬁ \R PL12-03G 12 | 85 | 255 | 357 | 19.6 | 235 | 297 | 17 G3/8 27
Metric thread type PL12-04G 10 | 269 | 372 235 | 297 | 21 G12 | 348
AFIFEI
T Eloo ...
: B2 (Unit): m/m
B R EIME E 8 MEFLE
PL3-M3-NI 3 | 152 | 195 127 | 15 | 8 | M3x05 | 3.8
PL3-M5-NI 3 32 | 133 [ 172 | 7 8 |145| 8 | M5x08 | 3.8
PL3-M6-NI 4 [ 162 | 205 127 | 15 | 10 | MBX10 | 56
PL4-M3-NI 35 | 136 | 17 136 | 15 | 8 | M3X05 | 3.9
PL4-M5-NI 4 |133 | 17 136 | 15 | 8 | M5X08 | 4.1
PL4-M6-NI . 4 |162 | 205 | . 136 | 15 | 10 | Mex10 5
PL4-01G-NI 75 | 175 | 21.8 129 | 152 | 10 G1/8 7.3
PL4-02G-NI 85 | 19 | 233 129 | 152 | 14 G1/4 14.9
PL4-03G-NI 85 | 195 | 233 129 | 152 | 17 G3/8 20.9
PL6-M5-NI 4 | 141 | 19 137 | 157 | 8 | M5%08 | 4.8
E PL6-M6-NI 6.8 | 15.7 | 206 137 | 156 | 10 | MBX10 | 6.2
'c—’l PL6-01G-NI 6 75 | 188 | 244 | 10 | 138 | 172 | 10 G1/8 8.2
T PL6-02G-NI 85 | 201 | 25 138 | 172 | 14 G1/4 7
o D]:g T Y PL6-03G-NI 85 | 202 | 25 188 | 172 | 17 | G38 | 192
SIS I PL8-01G-NI 75 | 221 | 29 156 | 233 | 10 G1/8 12.1
Y PL8-02G-NI . 85 | 206 | 29 | . 1156 | 233 | 14 G4 | 171
ol PL8-03G-NI 85 | 213 | 29 156 | 233 | 17 G3/8 | 217
OH PL8-04G-NI 10 |[233 | 30 156 | 233 | 21 G112 32.7
< PL10-02G-NI 10 | 251 | 34.1 19.8 | 269 | 14 G4 | 214
<]ﬁ PL10-03G-NI | 10 | 85 | 237 | 327 | 16.7 | 19.8 | 269 | 17 G3/8 | 27.8
R \R PL10-04G-NI 10 | 251 | 34.1 19.8 | 269 | 21 G112 35.6
Metric thread type PL12-02G-NI 10 | 20.7 | 371 22 [ 282 14 | G4 28
AR
PL12-03G-NI | 12 | 85 | 255 | 357 | 19.6 | 22 | 282 | 17 G3/8 34.4
PL12-04G-NI 10 | 269 | 37.2 22 [ 282 | 21 G112 | 422

NI: 2 EIEEE

-
T

hread

:Release Ring (Metallic Body)




FZ #E$% 88 (K1) Tube Fitting (Ivory)

5557
=

P
@D

I

<

R

Metric thread type
NHIFEIR

=2eEe,......

B EIME B & CREILE
PL4-M3-W 3 |136 | 17 137 | 155 [ 155 |M3x05| 3 | 1.1
PL4-M5-W 4 |133| 17 137 | 155 | 155 |M5x08 | 32 | 2
PLAMBW | 4 4 |162| 205 | 8 |137 [155 | 155 |Mex1.0| 46 | 25
PL4-01-W 96 | 20 | 24 137 | 155 | 155 | PT18 | 64 | 4
PL4-02-W 7 172 21 137 | 155 | 155 | PT1/4 | 152 | 4
PL6-M5-W 4 141 19 138 | 162 | 16.2 | M5x0.8 | 4 2
PL6-MB-W 4 157 | 206 138 | 165 | 165 | M6x1.0| 54 | 25
PL6-01-W 6 7 183 23 | 10 [139 [165 | 165 | PT18 | 74 | 4
PL6-02-W 94 |211| 26 14 157 [ 157 | PT14 | 162 | 4
PL6-03-W 98 |212| 26 14 161 | 161 | PT38 | 196 | 4
PL8-01-W 7 |215| 28 202 | 226 | 226 | PT158 | 98 | 54
PL8-02-W 95 | 22 | 285 20 | 225 | 225 | PT14 | 16 | 54
PL8-03-W 8 [ 93 |223| 20 | 136 [ 201 [225 |225 | PTais | 206 | 54
PL8-04-W 1.8 | 252 | 315 201 | 223 | 223 | PT12 | 338 | 54
PL10-01-W 6.9 23 31 243 | 27.7 | 27.7 | PT1/8 17 5
PL10-02-W 96 |252 | 33 241 | 276 | 276 | PT14 | 184 | 5
pLioozw | 19 [ 94 [249 | 33 | 167 [242 [276 | 276 | PT3I8 | 236 | 5
PL10-04-W 12 27 35 243 | 275 | 275 | PT1/2 | 34.8 5
PL12-02-W 12 232 | 325 247 | 282 | 282 | PT1/4 | 214 5
PL12-03W | 12 | 96 |266 | 35 | 196 | 249 |289 |289 | PT3/is | 266 | s
PL12-04-W 96 | 26 | 35 25 | 288 | 288 | PTI2 | 378 | 8

NI Elbow

%
— __'|
/

Metric thread type
DFIZFRIRN

NI: 2ERRRIR

B3 (Unit): m/m

PL3-M5-NI-W 3 3.2 13.3 | 17.2 8 8 14.5 8 M5x0.8

PL3-M6-NI-W 4 16.2 | 20.5 12.7 | 15 10 | M6x1.0| 5.6 2
PL4-M3-NI-W 35 | 136 17 136 | 15 8 M3x0.5| 3.9 1.1
PL4-M5-NI-W 4 13.3 17 136 | 15 8 M5x0.8 | 4.1 2
PL4-M6-NI-W 4 4 16.2 | 20.5 8 136 | 15 10 | M6x1.0 5 2.5
PL4-01-NI-W 9.6 20 24 136 | 15 10 PT1/8 7.3 4
PL4-02-NI-W 7 172 | 21 13.6 | 15 14 PT1/4 | 16.1 4
PL6-M5-NI-W 4 14.1 19 13.7 | 167 8 M5x0.8 | 4.8 2
PL6-M6-NI-W 6.8 | 15.7 | 20.6 13.7 | 15.6 10 | M6x1.0| 6.2 25
PL6-01-NI-W 6 7 18.3 | 23 10 | 13.7 [ 15.6 10 PT1/8 8.2 4
PL6-02-NI-W 94 | 211 26 13.9 [ 1562 14 PT1/4 17 4
PL6-03-NI-W 98 |21.2 | 26 13.9 | 15.6 17 PT3/8 | 20.4 4
PL8-01-NI-W 7 215 | 28 20.1 | 221 10 PT1/8 | 12.1 54
PL8-02-NI-W 9.5 22 | 285 199 | 22 14 PT1/4 | 183 | 54
PL8-03-NI-W 8 93 223 | 29 136 20 22 17 PT3/8 | 229 | 54
PL8-04-NI-W 11.8 | 252 | 31.5 20 | 218 | 21 PT1/2 | 36.1 54
PL10-01-NI-W 6.9 23 31 242 | 27.2 10 PT1/8 | 20.8 5
PL10-02-NI-W 9.6 |252 33 24 | 271 14 PT1/4 | 22.2 5
PL10-03-NI-W 10 94 |249 33 16.7 241 | 271 17 PT3/8 | 27.4 5
PL10-04-NI-W 12 27 35 242 | 27 21 PT1/2 | 38.6 5
PL12-02-NI-W 12 23.2 | 325 246 | 27.7 14 PT1/4 | 28.8 5
PL12-03-NI-W 12 9.6 |26.6 35 19.6 | 24.8 | 284 17 PT3/8 34. 8
PL12-04-NI-W 9.6 26 35 249 1283 | 21 PT1/2 | 45.2 8

NI:Release Ring (Metallic Body)




PL. et

G Elbow
I s i

L EIME £ & REILE
PL4-M3-W 3 13.6 17 13.7 | 1565 8 M3x0.5 3 1.1
PL4-M5-W 4 13.3 17 13.7 | 1565 8 M5x0.8 | 3.2 2
PL4-M6-W 4 4 16.2 | 20.5 8 13.7 | 1565 10 M6x1.0 | 4.6 25
PL4-01G-W 7.5 175 | 21.8 13.2 | 155 10 G1/8 6.4 4
PL4-02G-W 8.5 19 23.3 13.2 | 155 14 G1/4 14 4
PL4-03G-W 8.5 19.5 | 233 13.2 | 155 17 G3/8 20 4
PL6-M5-W 4 141 19 13.8 | 16.2 8 M5x0.8 4 2
PL6-M6-W 4 15.7 | 20.6 13.8 | 16.5 10 M6x1.0 | 54 25
PL6-01G-W 6 7.5 18.8 | 24.4 10 13.9 | 16.5 10 G1/8 74 4
E PL6-02G-W 8.5 201 25 13.9 | 17.2 14 G1/4 6.2 4
‘—C’! PL6-03G-W 85 [202 | 25 139 [ 172 | 17 G3/8 | 184 | 4
F--- :_\ PL8-01G-W 75 | 221 29 15.6 | 23.3 10 G1/8 9.8 5.4
% 8]:&- . PL8-02G-W 8 85 |206 | 29 |43 | 156 |23.3 | 14 G1/4 | 148 | 5.4
F=="17 PL8-03G-W 8.5 21.3 29 15.6 | 23.3 17 G3/8 19.4 5.4
B PL8-04G-W 10 23.3 30 15.6 | 23.3 21 G1/2 304 5.4
@ PL10-02G-W 10 |[25.1 | 341 213 (279 | 14 | G14 | 176 | 5
PL10-03G-W| 10 | 85 |23.7 | 327 |47 |213 279 | 17 | G3/8 24 5
< }E < PL10-04G-W 10 |[25.1 | 341 213 | 279 | 21 G12 | 318 | 5
R R PL12-02G-W 10 |[29.7 | 371 235 (297 | 14 | G14 | 206 | 5
Metric thread type PL12-03G-W| 12 85 |255 | 357 | 196 | 235 | 297 17 G3/8 27 8
ATEY PL12-04G-W 10 |26.9 | 37.2 235 297 | 21 | G2 | 348 | 8

PL EEE

G+NI Elbow
cac AT

B = EIME E & REILE
PL3-M3-NI-W 3 | 152|195 127 | 15 | 8 [M3x05 | 38 | 1.
PL3-M5-NI-W 3 |32 (133|172 | 8 | 8 [145| 8 [M5x0.8 | 38 | 2
PL3-ME-NI-W 4 |162] 205 127 | 15 | 10 [mex10 | 56
PL4-M3-NI-W 35 [ 136 | 17 136 | 15 | 8 [M3x05 | 39 | 1.
PL4-M5-NI-W 4 [133] 17 136 | 15 | 8 [M5x08 | 41 | 2
PL4-ME-NI-W s |4 [162]205 | . [136] 15 | 10 [mexto| 5 | 25
PL4-01G-NIW 75 [17.5 | 21.8 129 [152 [ 10 [ Gi8 | 73 | 4
PL4-02G-NIW 85 | 19 | 233 120 [152 | 14 | 14 | 149 | 4
PL4-03G-NIW 85 [19.5 | 233 129 [152 | 17 | G38 | 209 | 4
E PLE-M5-NI-W 4 |141] 19 137 157 | 8 |M5x08 | 48 | 2
c PLE-ME-NI-W 68 [ 157 | 206 13.7 | 156 | 10 |Mex10 | 62 | 25
- PLGOIGNKW | 6 | 75 [188] 23 | 10 138|172 | 10 | G18 | 82 | 4
Q D]:g_ IR PL6-02G-NIW 85 [201| 25 138 172 | 14 | G144 | 7 | 4
|8 1L PLE-03G-NIHW 85 [202| 25 138 [172 | 17 | G38 | 192 | 4
, PLB-01G-NIW 75 221 | 29 156 233 [ 10 | 18 | 121 | 54
] o PLOOZGNHW | o | 85 [206] 20 | . [156 233 | 14 |4 | 174 | 54
PLB-03G-NIHW 85 [21.3] 29 156 | 233 | 17 | 638 | 21.7 | 54
< PLB-04G-NIW 10 [233] 30 156 | 233 | 21 | 612 | 327 | 54
<}E PL10-02G-NIW 10 [ 25.1 | 34.1 198 (269 | 14 | G4 | 214 | 5
R PLIO-03GNIW | 10 | 85 237 (327 | 167 | 198 [269 | 17 | G3B | 278 | 5
Sk iead e PL10-04G-NIFW 10 [ 251 | 341 198 [269 | 21 | G112 | 356 | 5
PL12-02G-NIW 10 [ 207 | 3741 22 [282 | 14 | G4 | 28 | 5
PL1203GNHW | 12 | 85 |255 (357 | 196 | 22 (282 | 17 | G3/8 | 344 | 8
PL12-04G-NIW 10 [ 269 | 372 22 [282 [ 21 | G2 | 422 | 8

-
T

hread

CH E (P G
NI: & BiR=HR NI:Release Ring (Metallic Body)






